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QUESTION 1

Assume that the Root AP is installed on a 30-meter tower with coordinates (Om, Om), and four Leaf APs are at (200m,
100m). (200m, Om), (800m, 400m) and (1000m, Om) in the four positions of the 7-meter pole, all equipment used
AP6510DN, and the antenna is the same. Each Leaf AP requires 1 Mbps of bandwidth and the local EIRP is unlimited.
Which of the following antennas is optimal for a Root AP?

A. 11dBi_H60 degrees _V30 degrees

B. 27dBi_H5 degrees _V5 degrees

C. 18dBi_H15 degrees _V15 degrees

D. 13dBi_H15 degrees _V60 degrees

Correct Answer: A

QUESTION 2

During the establishment of the dual-link backup active/standby CAPWAP tunnel, which of the following parameters
should be included in the Discover Response sent by the active and standby ACs?

A. Dual link characteristic switch

B. IP and priority of the respective AC

C. Load status of each AC

D. Configuration files of the respective ACs

E. Forwarding mode of each service set of AC

Correct Answer: ABC

QUESTION 3

Under the following conditions, if you want to deploy WLAN without interrupting service, please choose ()
controller as the best strategy:

Enterprise wireless terminals are 500, with notebooks, smart phones, wireless cameras, etc.; enterprise
switching network access layer is 3700 series switching The core layer is the 5700 series switch. The
company\\'s export is the NE20 router.

Enterprises need to implement user grouping and QOS policies.

A. Use the AR3260 to hang as AC

B. Use AC6605 to connect directly to AC
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C. Use AC6605 to hang as AC
D. Use the ACU2+77 switch to do AC

Correct Answer: C

QUESTION 4

In the WLAN Tester 2.0 tool, when a vendor group information is added to an AP packet in the global configuration, can
one vendor correspond to several OUIs?

Al
B.2
C.3
D. Multiple

Correct Answer: D

QUESTION 5

Which of the following three formats can be planned with the WLAN planning tool?
A. Google Earth

B. Bitmap (jpg, gif, bmp, etc.)

C. PDF drawings

D. Vector graphics ( ai, odr, etc.)

Correct Answer: ABC

QUESTION 6

During the WLAN survey, the engineer needs to determine the coverage target requested by the customer. The
coverage currently includes: the main coverage target and the secondary coverage target. And special targets, the field
strength within the main coverage target needs to reach between - 65dBm ~ 85dBm.

A. True

B. False

Correct Answer: B

QUESTION 7
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The number of the X1E cards on the AC of the Huawei switchboard S127xx is the same as the number of
manageable APs.

The number of APs supported by the card.

A. True

B. False

Correct Answer: B

QUESTION 8

What type of radio frame is used when the AP performs a counteraction against an illegal terminal?
A. Beacon frame

B. Disassociation frame

C. Deauthentication frame

D. Probe frame

Correct Answer: C

QUESTION 9

When conducting WLAN security planning, in order to support guest registration, what is the recommended
authentication method for visitors?

A. WEB certification

B. WPA-PSK

C. WEB-Portal certification
D. dotlx certification

Correct Answer: C

QUESTION 10

The WLAN high-density venue business can achieve 100% concurrent users under a good experience.
A. True

B. False

Correct Answer: B
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QUESTION 11

When the AP8030DN is placed on the roof to cover the outdoor area, it usually covers the indoor area well.
A. True

B. False

Correct Answer: B

QUESTION 12

What is the correct statement about WLAN channel planning?
A. The United States can plan 1-13 channels at 2.4 GHz

B. Infrared interference needs to be considered when planning
C. Radar interference needs to be considered during planning
D. Avoiding signal interference when planning

Correct Answer: CD

QUESTION 13

A three-story office needs to plan a WLAN. After the site survey is completed, the engineer decides to place three APs
on each floor. The letter about the three floors.

Is the road planning correct?
A.1611/6111/1116
B.1116/6111/1116
C.1611/6111/1116
D.1116/1611/6111

Correct Answer: AD

QUESTION 14

In the project, the two points are separated by 4.5km. In order to realize the data return between the two points, what
information does the engineer need to collect?

A. Bandwidth requirements

B. Obstacle information between two points
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C. 2.4G channel usage between two points
D. 5G channel usage between two points
E. Terminal type

Correct Answer: ABD

QUESTION 15

For WLAN outdoor coverage planning, what is the recommended coverage radius when using an external 2.4G 3dBi
omnidirectional antenna?

A. 30~50 meters
B. 80~100 meters
C. 150~200 meters
D. 200~250 meters

Correct Answer: B
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